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1. (…) …Û×©ÛÁõ ¾ÛÛÇ”ÛÛ¶ÛÛ Š²Ûé•ÛÛé¶Ûà ÍÛ¾Û›æ÷©Ûà …Û¸ÛÛé. 7 

     …¬ÛÈÛÛ 

  ½ÛÛÁõ©Û¾ÛÛ× ¶ÛÛ¶ÛÛ ¸ÛÛýÛÛ¶ÛÛ Š²Ûé•ÛÛé¶Ûà ¾ÛýÛÛÙþùÛ…Ûé ›÷¨ÛÛÈÛÛé. 

 (¼Û) ½ÛÛÁõ©Û¾ÛÛ× ›ÛÐéüÁõ“ÛéªÛ¶Ûä× ¾ÛÐü«ÈÛ ÍÛ¾Û›ÛÈÛÛé. 7 

     …¬ÛÈÛÛ 

  ½ÛÛÁõ©Û¾ÛÛ× ”ÛÛ¶Û•Ûà“ÛéªÛ¶Ûä× ¾ÛÐü«ÈÛ ÈÛ¨ÛÙÈÛÛé. 

  

2. (…) ½ÛÛÁõ©Û¶Ûà ÁõÛÌ¤ÖøàýÛ …ÛÈÛïõ …¶Ûé ÁõÛé›÷•ÛÛÁõà¾ÛÛ× ÍÛéÈÛÛ“ÛéªÛ¶ÛÛé ºõÛÇÛé ›÷¨ÛÛÈÛÛé. 7 

      …¬ÛÈÛÛ 

  ÍÛéÈÛÛ“ÛéªÛ¶Ûä× ÈÛ•ÛâïõÁõ¨Û …Û¸Ûà ½ÛÛÁõ©Û¾ÛÛ× ÍÛéÈÛÛ“ÛéªÛ¶Ûä× ¾ÛÐü«ÈÛ ÍÛ¾Û›ÛÈÛÛé. 

 (¼Û) ”Ûé©Ûà“ÛéªÛ¶ÛÛ …ÍÛ×•ÛÜ¥ø©Û ËÛÜ¾ÛïõÛé¶Ûà ÅÛÛ“ÛÜ¨Ûïõ©ÛÛ…Ûé ÈÛ¨ÛÙÈÛÛé. 7 

     …¬ÛÈÛÛ 

  Š²Ûé•Û“ÛéªÛ¶ÛÛ …ÍÛ×•ÛÜ¥ø©Û ËÛÜ¾ÛïõÛé¶Ûà ÍÛ¾ÛÍýÛÛ…Ûé ›÷¨ÛÛÈÛÛé. 

 

3. ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé :   16 

 (1) ½ÛÛÁõ©Û¶ÛÛ Í¤øàÅÛ Š²Ûé•Û ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé. 

     …¬ÛÈÛÛ 

  Š²Ûé•ÛÛé¶Ûä× Š¸ÛýÛÛé•Û …ÛµÛÛÜÁõ©Û ÈÛ•ÛâïõÁõ¨Û ÍÛ¾Û›ÛÈÛÛé. 

 (2) ½ÛÛÁõ©Û¾ÛÛ× ›ÛÐéüÁõ Š²Ûé•ÛÛé¶Ûà ïõÛé̂ ¸Û¨Û ªÛ¨Û ¾ÛýÛÛÙþùÛ…Ûé ›÷¨ÛÛÈÛÛé.  

      …¬ÛÈÛÛ 

  ½ÛÛÁõ©Û¾ÛÛ× ”ÛÛ¶Û•Ûà Š²Ûé•ÛÛé¶Ûà ïõÛé̂ ¸Û¨Û ªÛ¨Û ¾ÛýÛÛÙþùÛ…Ûé ›÷¨ÛÛÈÛÛé. 
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 (3) ½ÛÛÁõ©Û¶ÛÛ …ÍÛ×•ÛÜ¥ø©Û “ÛéªÛ¶ÛÛ ÅÛÛ½ÛÛé 

     …¬ÛÈÛÛ 

  ½ÛÛÁõ©Û¶ÛÛ …ÍÛ×•ÛÜ¥ø©Û ËÛ¾Û¶Ûà ÍÛÅÛÛ¾Û©Ûà ¾ÛÛ¤éø¶ÛÛ× ¸Û•ÛÅÛÛ× ÍÛæ˜ÛÈÛÛé. 

 (4) ÍÛéÈÛÛ“ÛéªÛ¾ÛÛ× ¾Ûæ¦øà ÁõÛéïõÛ¨Û¶ÛÛ ÈÛÅÛ¨ÛÛé …Û¸ÛÛé. 

     …¬ÛÈÛÛ 

  ½ÛÛÁõ©Û¾ÛÛ× Œ›ÛÙ“ÛéªÛé ¸Ûó•ÛÜ©Û ›÷¨ÛÛÈÛÛé. 

 

4. ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : (•Û¾Ûé ©Ûé ™ö)  12 

 (1) ËÛ¾Û¸ÛóµÛÛ¶Û Š²Ûé•Û ïõÛé¶Ûé ïõÐéüÈÛÛýÛ ? 

 (2) ¶ÛÛ¶ÛÛ Š²Ûé•ÛÛé¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. 

 (3) ‘”ÛÛ¶Û•Ûà “ÛéªÛ’¶ÛÛé …¬ÛÙ ÍÛ¾Û›ÛÈÛÛé. 

 (4) ¾ÛÛÇ”ÛÛ•Û©Û ÍÛÈÛÅÛ©ÛÛé …é¤øÅÛé ÉÛä× ? 

 (5) …ÍÛ×•ÛÜ¥ø©Û ËÛ¾Û¶ÛÛé …¬ÛÙ …Û¸ÛÛé. 

 (6) ½ÛÛÁõ©ÛàýÛ ”Ûé©Û ¾Û›æ÷Áõ¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. 

 (7) ¸ÛóÛ¬ÛÜ¾Ûïõ “ÛéªÛ¾ÛÛ× ïõˆ ¼ÛÛ¼Û©ÛÛé¶ÛÛé ÍÛ¾ÛÛÈÛéÉÛ ¬ÛÛýÛ ™öé ? 

 (8) ÍÛéÈÛÛ“ÛéªÛ¶ÛÛé …¬ÛÙ …Û¸ÛÛé. 

 

5. ÍÛÛ˜ÛÛé Š«ÛÁõ ¸ÛÍÛ×þù ïõÁõÛé :  14 

 (1) ÅÛÛé”Û×¦ø …¶Ûé ¸ÛÛéÅÛÛþù Š²Ûé•Û¶Ûé ÈÛ•Ûâïèõ©Û ïõÁõÛé. 

  (a) ËÛ¾Û ¸ÛóµÛÛ¶Û 

  (b) ¾Ûæ¦øà ¸ÛóµÛÛ¶Û 

  (c) ¸ÛÛýÛÛ¶ÛÛé 

 (2) ¾Ûæ¦øà ¸ÛóµÛÛ¶Û Š²Ûé•Û¾ÛÛ× ÁõÛé›÷•ÛÛÁõà¶Ûà ©ÛïõÛé ïéõÈÛà ÐüÛéýÛ ™öé ? 

  (a) …Ûé™öà 

  (b) ¾ÛµýÛ¾Û 

  (c) ÈÛµÛä 

 (3) 1951 ¾ÛÛ× ›ÛÐéüÁõ“ÛéªÛ¶ÛÛ ÍÛÛÐüÍÛÛé¾ÛÛ× _______ ¾Ûæ¦øà ÁõÛéïõÛ¨Û ¬ÛýÛä× Ðü©Ûä×. 

  (a) 29 ïõÁõÛé¦ø 

  (b) 30 ïõÁõÛé¦ø 

  (c) 50 ïõÁõÛé¦ø 



XT-110 3 P.T.O.  

 (4) ½ÛÛÁõ©Û¾ÛÛ× _______ “ÛéªÛ¶ÛÛ …éïõ¾ÛÛé ÍÛÛ¾ÛÛÜ›÷ïõ ¶ýÛÛýÛ Í¬ÛÛ¸ÛÈÛÛ¾ÛÛ× ¾ÛÐü«ÈÛ¶ÛÛé ºõÛÇÛé …Û¸Ûé ™öé. 

  (a) ›ÛÐéüÁõ 

  (b) ”ÛÛ¶Û•Ûà 

  (c) ÍÛ×ýÛäî©Û 

 (5) ½ÛÛÁõ©Û¾ÛÛ× ¶ÛÛ¶ÛÛ Š²Ûé•Û ¾ÛÛ¤éø ÁõÛéïõÛ¨Û ¾ÛýÛÛÙþùÛ ______ ÄõÜ¸ÛýÛÛ ™öé. 

   (a) 1 ïõÁõÛé¦ø 

  (b) 2 ïõÁõÛé¦ø  

  (c) 3 ïõÁõÛé¦ø 

 (6) …Û×©ÛÁõ ¾ÛÛÇ”ÛÛ¶ÛÛ ¾Ûä”ýÛ _______ –Û¤øïõÛé ™öé. 

  (a) ªÛ¨Û 

  (b) ˜ÛÛÁõ  

  (c) ¸ÛÛ×˜Û 

 (7) ½ÛÛÁõ©Û¾ÛÛ× …ÛÜ¬ÛÙïõ ÍÛäµÛÛÁõÛ _______ ÈÛÌÛÙ¬Ûà …¾ÛÅÛà ¼Û¶ýÛÛ. 

  (a) 1980  

  (b) 1991  

  (c) 1995 

 (8) ½ÛÛÁõ©Û ÍÛÁõïõÛÁõ¶Ûä× ÍÛÛíé¬Ûà ¾ÛÛé¤ä×ø ›ÛÐéüÁõ ÍÛÛÐüÍÛ _______ ™öé. 

  (a) ÁéõÅÈÛé 

  (b) ¤éøÜÅÛïõÛé¾Û  

  (c) …éÁõ ˆÜ¶¦øýÛÛ 

 (9) ÍÛ×þéùÉÛÛÈýÛÈÛÐüÛÁõ _______ ¸ÛóïõÛÁéõ ÈÛ•Ûâïèõ©Û ¬ÛÛýÛ ™öé. 

  (a) ¼Ûé 

  (b) ªÛ¨Û  

  (c) ˜ÛÛÁõ 

 (10) ½ÛÛÁõ©Û¾ÛÛ× _______ ¾ÛÛ× ÅÛ–Ûä«Û¾Û ÈÛé©Û¶ÛµÛÛÁõÛé –Û¦øÈÛÛ¾ÛÛ× …ÛÈýÛÛé. 

  (a) 1948  

  (b) 1950  

  (c) 1956 
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 (11) ½ÛÛÁõ©Û¾ÛÛ× _______ Œ›ÛÙ¶ÛÛé ¾Ûä”ýÛ ÍªÛÛé©Û ™öé. 

  (a) ïõÛéÅÛÍÛÛé 

  (b) ÈÛà›÷Çà  

  (c) …¨Ûä Œ›ÛÙ 

 (12) ½ÛÛÁõ©Û¾ÛÛ× ¾Û›¼Ûæ©Û …Ûíé²ÛéÜ•Ûïõ ¸ÛÛýÛÛé _______ “ÛéªÛ¬Ûà Œ½ÛÛé ¬ÛýÛÛé. 

  (a) ›ÛÐéüÁõ 

  (b) ”ÛÛ¶Û•Ûà  

  (c) ÍÛ×ýÛäî©Û 

 (13) _______ ¼ÛêïõÛé ¶ÛÛ¶ÛÛ Š²Ûé•ÛÛé¶Ûé ÜµÛÁõÛ¨Û¶Ûà …•Ûó©ÛÛ …Û¸Ûé ™öé. 

  (a) ”ÛÛ¶Û•Ûà ¼Ûêïõ 

  (b) ÁõÛÌ¤ÖøàýÛïèõ©Û ¼Ûêïõ 

  (c) ÜÈÛþéùÉÛà ¼Ûêïõ 

 (14) ¶ÛÛ•ÛÜÁõïõ ŠfýÛø¶Û ”ÛÛ©ÛÛ¶Ûà Áõ˜Û¶ÛÛ _______ ÈÛÌÛÙ¾ÛÛ× ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛà. 

  (a) 1927 

  (b) 1930 

  (c) 1940 

________ 
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1. (a) Explain the infrastructure industries. 7 

OR 

  Give limitations of small scale industries in India. 

 (b) Give importance of public sector industries in India. 7 

OR 

  Describe the importance of private sector in India. 

  

2. (a) Give contribution of service sector in National Income and employment in India. 7 

OR 

  Classify services and give importance of service sector in India. 

 (b) Describe the characteristics of unorganized labourers of agricultural sector. 7 

OR 

  Describe the problems of unorganized labourers of industrial sector. 

 

3. Write short notes :  16 

 (1) Write a note on Iron and steel industry of India. 

OR 

  Explain the classification of industries on the basis of uses. 

 (2) Explain any three points of limitations of public sector industries in India. 

OR 

  Explain any three points of limitations of private sector industries in India. 
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 (3) Advantages of unorganized sector in India.  

OR 

  Suggest some measures for security of unorganized workers in India. 

 (4) Show trends of Investment in the service sector.  

OR 

  Explain the progress of energy sector in India. 

 

4. Answer in short (any six) :  12 

 (1) What is labour intensive industry ? 

 (2) Give definition of small scale industries. 

 (3) Give meaning of private sector. 

 (4) What is meant by infrastructure facilities ? 

 (5) What is meant by ‘unorganized labour’ ? 

 (6) Define Indian agricultural labourer. 

 (7) Which matters are included in primary sector ? 

 (8) What is meant by ‘service sector’ ? 

 

5. Choose the right answer :  14 

 (1) Classify the iron and steel industry 

  (a) Labour intensive  

  (b) Capital intensive  

  (c) Basic 

 (2) How many opportunities of employment are in capital intensive industries ? 

  (a) Less  

  (b) Medium  

  (c) Big 

 (3) In 1951 _______ capital was invested in public enterprises. 

  (a) 29 crores 

  (b) 30 crores  

  (c) 50 crores 
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 (4) _______ sector enterprises have contributed important share to establish social 
justice. 

  (a) Public  

  (b) Private  

  (c) Joint  

 (5) Investment limit for small scale industries is ` _______ in India. 

   (a) 1 crore  

  (b) 2 crore  

  (c) 3 crore 

 (6) Main components of infrastructure are _______. 

  (a) three  

  (b) four  

  (c) five 

 (7) Economic Reforms in India took place since _______ year. 

  (a) 1980  

  (b) 1991  

  (c) 1995 

 (8) _______ is the biggest public enterprise of Government of India. 

  (a) Railway  

  (b) Telecom  

  (c) Air India 

 (9) Telecommunication is classified in _______ types. 

  (a) two  

  (b) three  

  (c) four 

 (10) In India the Minimum Wages Act was implemented in _______ year. 

  (a) 1948  

  (b) 1950  

  (c) 1956 
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 (11) _______ is the main source of energy in India. 

  (a) Coal  

  (b) Electricity  

  (c) Atomic energy 

 (12) The strong industrial base established due to _______ sector in India. 

  (a) Public  

  (b) Private  

  (c) Joint 

 (13) _______ banks give priority to small scale industries for credit. 

  (a) Private bank  

  (b) Nationalised bank  

  (c) Foreign bank 

 (14) Civil Aviation Department was established in _______ year. 

  (a) 1927  

  (b) 1930  

  (c) 1940 
________ 
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